PEA1 DESE e o
/132
£ 12 8] IR UUIT RRERER AL
P E S
EPEE 1 kWh = 1000 X 3600 ]
PES [VV] A% [s] 1 gé‘ié
1 —HEEERILR R 450 W - 'ERHE) 7 5 o8 o HEDHR 720 ] HIRER ?
/2
2. —HESERVKAERVLIR R 1.6 kW > TERBAEN I 8 /N -
(@ HEUHMTZV ] HRER?
/2
(b)  DLkWh BEIFR (a) VEZE -
/2
(o WREE, EBVEMZS$LS  BREHA 30K §ANZ/DESE?

/2




B/ SRAREVIIZR By 2.4 kW > 'EFAEN T 6 /N -
(@ HEDHFETZ/ ] HREE ?

/2
(b)  PLkWh SEAIFRIR () WEZE

/2

(2 AR By 6.5 kW » ERERFE) T 12 /N

(@) HREDVHFETZ/D]WREE?

/2
(b) DPLkWh GEIFIR (a) WEE

/2

(o R "R, EVEMNE$14- BEeiEHA 30K FAME

BE?

/2




—HB wifi FRHE5HVIIRIAE 85 W B ERFAERE) 0 —F77 365 K -

(@ EFHETEZV]ER?

(b)  LLKWh BEfr#T (2) IVEE -

(o WREE, BEMRE LS 2FEZ/VEHE?

—HEREREVKIEHIZIRZE 3.5 kW » fE—JOMG FUHFE T 0.8 kWh HYZEAE -

(@ 0.8kWh fHENZ/ ] HYRERE ?

(b)  (HEMNARER /D e ?




—HBE A ERYIRIE 1.2 kW fE—JCRERTRHME T 0.25 kWh 1Y

(@  0.25kWh IENZ/ ] HVRER ?
/2
(b) AHEEERER D5 ?

/2




